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General instructions:
(U This question puper consist “":,‘,’f 53 Questions divided into 5 seclions A, B, C, D and E,
() Section A comprises 2 0 questiony ing I mark each including Multiple Choice questions,
Assertion and Reasoning basedq Wesfl'orgg_
(i} Section B omprises § questions Carrying 2 marks each;
() Seciion C comprises 4 questions ¢qp, 2 3 marks each,
(v) Section D comprises 2 questions Carrying s marks each.
(Vi) Section E comprises 2 case srlldy-ba_gedg uestions of 4 marks each,
Vil All questions are compulsory. H Internal choices have peer Provided in some of the
questions.
(i) Draw neqs figures wherever required
T SECTIONA
Multiple Choice Questions (20 M arks)
QNo. | Question Marks
B 1 3l Ifn is a natural number, then 2(5% + 6") always ends with 1
(a1 (b) 4 (©3 (d)2
2 The least value of k, for which the quadratic equation 2x? + kx — 4 = g has 1
rational roots is
() +2v2 (b) 2 (©+2 (2
3 | If the discriminant of the quadratic equation 3xZ — 2 g + ¢ =01s 16, then the 1
value of ¢ is
@1 ®)0 Q-1 (@) V2
4 | 1fa, B are the zeros of the quadratic polynomial . 1
P(x) = x% - (x +6)x +2(2k ~ 1), then the value ofk ifa + 8= 7 9B, s
@-7 ®) -3 @7 @3
Posa e
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5 If the nth term of an AP is 70t 4, then the t‘nl_l;‘lhl-\_on differens e 19
@7 (b) 4 ()1 @) 7n
] —— . Sl e |
b Which ut these is the polynoniial whose 2eros ape _:_ st ( i)’
(@)12xf +5x -3
(b)12x? —5x -3
(c)12x? +13x +3
(d)12x® —13x - 3
et o ————#“:_'__"-‘-—______________————-—'_"—'_—__P___—-
7 | What should be added to the polynomial x? ~ Sx 4. % so0 that 3 is the zero of the 1
resulting polynomial?
@)1 )2 (©4 (d)5
8 | Which of the following equations has two distinct rea} roots? 1
@ 2x? -3V2x+ E =0
Mx* +x-5=0
()x* +3x+2V2=0
(d)5x* -3x+1 =0
9 | Six bells commence ringing together and ring at intervals of 2, 4, 6, 8, 10 and 1
12 seconds respectively. In 30 minutes, how many times do they ring together?
(a) 4 (b) 10 (915 ()16
10 | Inan AP, if the first term a = 7, nth term a,, = 84 and the sum of the firstn 1
terms S, = -zi:g,t.‘hennisequalto
(@) 22 (b) 24 (© 23 (d) 26
11 | Iif the pair of equations 3x —y +8 =0 and 6x — 1y +16=0 represent 1
coincident lines, then the value of 'r' is
a
()3 ®-3 - Q-2 @2
12 ] - ’ 2200 2 .
The value of [' 8ec?60° — tan260° + cos245° ]Bequ??
s 1 A 1
@ -3 ® -3 ©0 9]
Mther time Is




(il COMMop fig———— - — - -
he other Ap erence. The first term of one A.P.is — 1 .
“18 — 8, What is the difference between their

4 Two Ab's have the
and the first terta of t
Lthterms!’

-8
v -1 4 (©)7 (d) -9
o oo B ..
15 Inthe gven higure, %\\ OPl:'m:SZeS ts AC and BD intersect at point P such that
PA=6cm, PB=3cM % = “3Cm,pp = 5 ¢y Given that APB = 50° and
2CDP =30° what is the measure of ZPBA 7

(a) 100° (b) 50° (c) 60° (d) 30°

-_.r-————-—'—

16 | Thesine of an angle in 2 right triangle is <. Which of these could be the

measures of the sides of the triangle?

(a)4cm,3cmand 9 cm
(b)6cm,8cmand 10cm

(¢) 4cm, 5 cmand V41 cm
(d)8 cm, 10 cm and 4v41 cm

17 | ForaneventE, if P(E) + P(E) = q, then the value of g2 — 4 is

(a)-3 (b) 3 (©)5 (d) -5
18 :wo fair coins are tossed. What is the probability of getting, at the most, one
ead? . =
L OF OF ©3 @3
\ In question numbers 19 and 20, a statement of Assertion (A) is followed by a
statement of Reason (R}, Choose the correct option.
(2) Both assertion (A) sl reason (R) are true and reason (R) is the correct
explanation of assertion (A).
(b) Both assertion (A) and reason (R) are true but reason (R) is not the
correct explanatiifNiémssertion (A).
() Assertion (A) is trae but reason (R) is false.
(d) Assertion (A) is falve but reason (R) is true.
S ’
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Reason (R) - Any line parallel to the parallel sides of 3 73p¢?

R i

A\BCD s a trapezium with DCUAB g and - a1° E;‘
AL . —

BC respectively, such that EF §AB. Then o R

jum divides khe

i

non-parallel stde proportionally,

2
2

o g

0 o cosATS
6 - Assertion(A) : IfsinA = %(0 < A <90°), then the vaue of cosA
i

T Reason (R) : For every angle 8, sin“8 + cos?g = 1

g

|

nb O?]J_ib_ard'-—?\

\

/':""T_l— '

e
SECTION-B
(16 Marks)
— Marks
No.i Question 3
P
'1 | Solve the following for x. 2
4x* —4a%x + (@* -bY) =0
2 11f 4cot?45° — sec?60° +sin? 60° +p = -:-, then find the value of p. 2
OR
_ 1 cosec’8-sec’® _ 3
ftan® = ﬁ,thenshowﬁ]at 2 t5ec0 4
23 | Find the smallest natural number by which 1200 should be multiplied so that 2
the square root of the product is a rational number.
24 | Find c,if the following system of equations 2
x + 3y + (3 - ¢) = 0; 12x + cy — ¢ = 0, has infinitely many solutions.
25 At t minutes past 2p.m, the time needed by the minmte hand of the dock to 2
reach 3 i ® mi
p-m. was found to be 3 minutes less than 5 minutes. Find the value of t
SECTION-C
(12 Marks)
26 2,
Prove that (V2 + V3) s an vational number, given that V6 is an irvatiopal 3




Fa

| I and .ﬂl seros of the Eluadriu =

i € pol : = e - SR
[ the value of - e L Zafi. Ynomial p(x) = x? _ 5 + 4, then fini_-[-_j
24 |T he -:h lhunah. of a qu; idﬂl;@;;r\‘-x_._
that —; R e thw that ABCI} is intersect cach other at 1 the point 0 such 3
Pezium,
OR
AD and PM are median nftﬁanm
M
AABC ~ APQR. Prove that — < A SCand APQR respectively where
FH
== - I S
SII;-‘CnnN-n
"M
Q No. Al
__.E,(T__ ( 5 QIHI:I!HI Marks
#@) Stat
) State and prove the Basic Promoe P"“Mnnallty Hieoren: ©
(b) In the given figure,
£CEF = £CFE. F 1:. the midpolnt of A
DC. Prove that =5
FD
B
e
|
31 I
(a) If tan A = n tan B and sin A =m sin B, prove that cos?A = ——n: : 5
(b) Prove that: cos*x - sin*x = _Sotx+1
1 —tanx SECXCOSECY
OR
tan®A cosecA 1
a) Prov : =
( } e that tan2A -1 + sec?A - cosec?A 1 -2cos?A
(®) 1+ sin?® =3 sind cosB. Prove that tan® = 1 or 1
— T SECTIONE
(8 Marks)
QNe. Question Marks
32 mm-mwmmm 4
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voveien P s e e g e cleliung an antnn. pryu SOV
hodden 1 vationgs spuols, vt

’ - i =
. EERLER T
e 20+ 4N, ther a0

the nunber p thye pth spot by st e

-t ng oo clues,

I.]'l'll"nn'fhl'!'!“' H' !'I.-_'il“ Ehee 1"i! avels IG5

Based on the above information answer the following questions.
(i) Which number is on the first spot?
(ii) Which spot is numbered as 1127

OR

(ii) What is the sum of all the numbers on the first 10 spots?

(iti) Which number is on the (n — 2)% spot?

Case Study - Holiday Transport Survey

In a survey on holidays, 120 people were asked to state which type of transport
they used on their last holiday. The following pie chart shows the result of the
survey.




Based on the above et MAUON angwer e tollowing questions
Fjuestions,

(0 12 one prisenas welevted at random i .
,find the ; it bk e
(avelled by bus ot by ship. we probability that he/ she

—_ P TR T LS ot ‘o i
{'Il.‘ :; AR Jevte _“ ““im'l'h if the pruhahuluy that he did not use train 1s
' find the number ul people who used the Lrain,

OR

i T
d the aeroplane IS .

(it) The probability that a randomly selected person use
the rate of ¥5,000 per

Find the revenuc collected by the airline company at

person.

(iii) Which is the favourite mode of transport and how many people used it?




